MIAMI-DADE COUNTY, FLORIDA
MIAMIDADE METRO-DADE FLAGLER BUILDING

COUNTY 140 WEST FLAGLER STREET, SUITE 1107
BUILDING CODE COMPLIANCE OFFICE (BCCO) MIAMI, FLORIDA 33130-1563
PRODUCT CONTROL DIVISION (305)375-2902  FAX (305) 372—6339
NOTICE OF ACCEPTANCE (NO A) www.miamidade.covrbuildingcode

Weather Shield Manufacturing, Inc.
One Weather Shield Plaza
Medford, WI 54451

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control
Division and accepted by the Board of Rules and Appeals (BORA) to be used in Miami-Dade County and
other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Division (In Miami-Dade County) and/or the AHJ (in areas other than Miami-Dade County)
reserve the right to have this product or material tested for quality assurance purposes. If this product or
material fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and
the AHJ may immediately revoke, modify, or suspend the use of such product or material within their
Jurisdiction. BORA reserves the right to revoke this acceptance, if it is determined by Miami-Dade County
Product Control Division that this product or material fails to meet the requirements of the applicable
building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series “Legacy” 10°0” Aluminum Clad Outswing Wood French Door — L.ML.I.

APPROVAL DOCUMENT: Drawing No. 1211 rev. ‘C1’, titled “Legacy Alum Clad Outswing French
Door”, sheets 1 through 8 of 8, prepared by W. W. Schaefer Engineering & Consulting, P.A., dated 02/20/03
and last revised on 08/24/09, signed and sealed by Warren W. Schaefer, P. E., bearing the Miami—Dade
County Product Control Revision stamp with the Notice of Acceptance number and expiration date by the
Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami—Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement

of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.
This NOA revises NOA No. 08-0602.10 and consists of this page 1 and evidence pages E—l and E-2, as
well as approval document mentioned above.

The submitted documentation was reviewed by Jaime D. Gascon, P. E.

NOA No. 09-0929.08
MIAMI-DADE COUNTY

APPROVED A (pses Expiration Date: July 17,2013
’ o Approval Date: January 27,2010

Page 1



Weather Shield Manufacturing, Inc.

1.

1.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS
1.
2.

Manufacturer's die drawings and sections.

Drawing No. 1211, rev. ‘C1’, titled “Legacy Alum. Clad Outswing French Door”,
sheets 1 through 8 of 8, prepared by W. W. Schaefer Engineering & Consulting, P. A.,
dated 02/20/03 and last revised on 08/24/09, signed and sealed by Warren W.
Schaefer, P. E.

TESTS
1.

Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94

4) Large Missile Impact Test per FBC, TAS 201-94

5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an outswing French door,
prepared along with marked-up drawings and installation diagram of a wood French
door, prepared by Stork Twin City Testing Corporation, Test Report No.
TCTCWI09003 dated 03/04/09, signed and sealed by Thomas Allan Kolden, P. E.
Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94

4) Large Missile Impact Test per FBC, TAS 201-94

5) Cyclic Wind Pressure Loading per FBC, TAS 203-94

6) Forced Entry Test, per FBC 2411 3.2.1, TAS 202-94
along with marked-up drawings and installation diagram of an outswing French door,
prepared along with marked-up drawings and installation diagram of a wood French
door, prepared by Stork Twin City Testing Corporation, Test Reports No.’s
TCTCWI02016 dated 10/21/02, TCTCWI02013 dated 8/20/02 and TCTCWI02021
dated 11/10-13/03, all signed and sealed by Derrick Swanson, P. E.
(Submitted under previous NOA No. 04—0630.03 )

CALCULATIONS

Anchor verification calculations and structural analysis, dated 5/29/08 and last revised
on July 09, 2008, prepared by W.W. Schaefer Engineering & Consulting, P.A., signed
and sealed by Warren W. Schaefer, P. E.

Complies with ASTM E1300-98/ 02

QUALITY ASSURANCE

Miami-Dade Building Code Compliance Office (BCCO).

Jaime D. Gascon, P. E.

Chief, Product Control Division
NOA No. 09-0929.08

Expiration Date: July 17, 2013
Approval Date: January 27, 2010




Weather Shield Manufacturing, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

E. MATERIAL CERTIFICATIONS

1.

Notice of Acceptance No. 06-0216.06 issued to Solutia Inc. for their “Saflex IIIG

Clear or colored interlayer” dated 05/04/06, expiring on 05/21/11.

F. STATEMENTS

1.

2.

3.

Statement letter of conformance, dated August 24, 2009, signed and sealed by Warren
W. Schaefer, P. E.

Statement letter of no financial interest, dated August 24, 2009, signed and sealed by
Warren W. Schaefer, P.E.

Laboratory compliance letter for Test Report No. TCTCWI09003, issued by Stork
Twin City Testing Corporation, dated March 04, 2009, signed and sealed by Thomas
Allan Kolden, P. E.

Laboratory compliance letter for Test Report No.”s TCTCWI102016, TCTCWI02013
and TCTCWI02021, issued by Stork Twin City Testing Corporation, dated August
20, 2002/ 3, all signed and sealed by Derrick Swanson, P. E.

(Submitted under previous NOA No. 04-0630.03)

Laboratory addendum letter for Test Report No. TCTCWI102021, issued by Stork
Twin City Testing Corporation, dated July 30, 2004, all signed and sealed by John D.
Lee, P. E.

(Submitted under previous NOA No. 04-0630.03)

G. OTHERS

1.

Notice of Acceptance No. 08-0608.10, issued to Weather Shield Manufacturing, Inc.
for their Series “Legacy” Aluminum Clad Outswing Wood French Door — L.M.L.”,
approved on August 14, 2008 and expiring on July 17, 2013.

” Jaime D. Gascon, P.E.

Chief, Product Control Division
NOA No. 09-0929.08

Expiration Date: July 17, 2013
Approval Date: January 27, 2010



83 1/4” MAX. FRAME WIDTH (F.W.)

STRUCTURE.

MENTIONED ON THE DRAWINGS.

GOVERNING CODE AND GOVERNING WIND VELOCITY.

3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NOT VARY UNLESS SPECIFICALLY
SPECIFIED ANCHOR EMBED TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO.

4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & PROPOSED FOR WATER, AIR, IMPACT,
CYCLIC & UNIFORM STATIC AIR PRESSURE TESTING IN CONFORMANCE WITH THE FLORIDA BUILDING CODE PROTOCALS TAS-201, 202
& 203 FOR LARGE MISSILE IMPACT DOORS.
5. THESE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH AND MEET THE REQUIREMENTS OF THE FLORIDA BUILDING
CODE (FBC) INCLUDING HIGH VELOCITY HURRICANE ZONES (HVHZ).
6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE DOORS.

7. ALL ANCHORS SECURING DOOR FRAME TO PRESSURE TREATED BUCKS OR WOOD FRAMING SHALL BE CAPABLE OF RESISTING
CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN THE WOOD.
8. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE
FOR WIND LOAD CALCULATIONS IN ACCORDANCE WITH THE FLORIDA BUILDING

CODE, A DIRECTIONALITY FACTOR OF Kd = 0.85 MAY BE APPLIED WHEN USED IN CONJUNCTION WITH LOAD COMBINATIONS SPECIFIED
IN SECTION 2.0 OF THE ASCE 7 STANDARD.
9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS PRODUCT.
Cd = 1.6 WAS USED FOR WOOD SCREW ANALYSIS ONLY.
10. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL
MEET THE REQUIREMENTS OF FLORIDA BUILDING CODE CHAPTER 20.
11. All WOOD MEMBERS OF DOORS THAT MAY POSSIBLY COME INTO CONTACT WITH MASONRY OR CONCRETE SUBSTRATES, ARE
SUBJECT TO MOISTURE &/0OR ARE SUBJECT TO THE OUTSIDE ENVIRONMENT SHALL BE OF AN APPROVED DURABLE SPECIES OR BE
TREATED IN AN APPROVED METHOD WITH AN APPROVED PRESERVATIVE PER FBC SECTION 2326.

1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED FOR DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN IN
THE "ALLOWABLE DESIGN PRESSURE TABLE(S).
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO TRANSFER WIND LOADS TO THE

WIND LOAD DURATION FACTOR

TYPICAL FRAME SCREWS. PLACE ONE AT EACH
HEAD JAMB CORNER, 2 AT HEAD MIDSPAN &

42 3/8" MAX.
- FRAME WIDTH (F.W.)

6" MAX C o g /3 THRU STRIKE PLATE WITH DOORS 74" X 29 6" MAX
(TvP.) % H&M&r /// 98" & SMALLER. 4 AT HEAD MIDSPAN & 3 STRKE @ T ()
™~ THRU STRIKE PLATE WITH DOORS LARGER I »
S = e P - ] ; \ THAN 74" X 98" (50 SQ. FT.) SEE "FRAME A - —F 7 “V%O%I\NGX N1AIL15/20R NO.
' % ~——_ ( 1 ANCHOR REQUIREMENTS TABLE" ON THIS i \ 7X 1 5/8" DRYWALL
| —s SHEET FOR OTHER FASTENER REQUIREMENTS. ] S SCREWS SPACED AS
SEE "CORNER - - " _/ T REQUIRED TO SECURE
// STRIKE \_CONSTRUCTION” ﬂ T 11 GA. X 1 1/2" ROOFING | || \SEE "CORNER— & SEAL NAILING FIN
PLATE NOTE ON SHEET 2. NAILS OR NO. 7 X 1 5/8" | CONSTRUCTION
‘ / DRYWALL SCREWS SPACED 4 I NOTE ON SHEET 2.
+ (7583940 // - AS REQURED TO SECURE & Hii y,
) HINGE / ) SEAL NAILING FIN 12" 0.0 | / N ' NO. 10 S.S. WOOD
@ MAX l\ 37383940 SCREW OR MIN. 3/16
@@ ACTIVE PANEL NO. 10 S.S. WOOD SCREW OR [ HINGE CONCRETE SCREW (2
INACTIVE PANEL LOCK LOCK HARDWARE + MIN. 3/16” CONCRETE SCREW (2 N -+ PER HINGE INTO
~ '/ HaRowRE PER HINGE INTO SUPPORTING - - b (168468 \ SUPPORTING
T 9 SUBSTRATE). SEE "FRAME T 2 ASTVE PAREL SUBSTRATE). SEE
T 3 STRIKE AN ANCHOR REQUIREMENTS” TABLE v 3 B : LOCK HARDWARE : "FRAME ANCHOR
= ON THIS SHEET FOR OTHE? =L REQUIREMENTS” TABLE
Sz INACTIVE ACTVE FASTENER REQUIREMENTS. s oz P ik ON THIS SHEET FOR
L AGAY (DN /CTYT2N . T . ANl (CTYC2\ 1 ‘RJEEEIRREF@EL%ER
w 2 Qe /] < &/ < N, > ~FRAME SCREWS 6" MAX. FROM w o ST 1~ A6/ ~ :
< > /C?\ . @ @ OPPOSITE . CORNERS & 12" MAX. 0.£. (ONLY = > Al OPPOSITE
= - @ .\ ACTIVE REQUIRED WITH DOORS TALLER THAN = - i 4)
X O OLE HANDLE 98" AND/OR WIDER THAN 747) X 5 ACTvE )
s A NI / SO 1 Y e &
: X TYPICAL FRAME SCREWS INTO SUBSTRATE. = YN
S \30 1/16" / PLACE ONE AT EACH SILL CORNER, 2 AT & ; 30 1/16"/ RENURED, AT HINGE SIDE
ST OMAX. DLO. SILL MIDSPAN & 3 THROUG STRIKE PLATE L MAX. D.L.O. q
" 08" 4 s WITH DOORS TALLER
N 6/ WITH DOORS 74" X 98” & SMALLER. 4 AT | s/ T o5 NGOk WOER
| SILL MIDSPAN & 3 THRU SIRIKE PLATE LIl | TN 35 34
' \ / WITH D())ORS LARGER THAN 74” X 98” (50 it / '
SQ. FT.) SEE "FRAME ANCHCR
il \ g7 REQUIREMENTS TABLE” ON T+IS SHEET FOR 33 _L I / / L oD As
' TRKE / OTHER FASTENER REQUIREMENTS Hpo I / SHOWN. SEE "FRAME ANCHOR
| (APPLICABLE WITH BUMPER *HRESHOLD. | | R OURENENTS, TABLE® ON
' FOR ADA THRESHOLD CONDITION, SEE "ADA '
; , : =~ THIS SHEET FOR OTHER
s@;\ / SILL DETAIL" ON SHEET 7). /L | / FASTENER.BEQUREMENTS.
: PLATE NAILING FIN IS OPTIONAL & MAY BE SCORED —] : : as compying with ibe Florida
| i r T T | AND REMOVED WHEN REQUIREC FOR A DIRECT | ‘!i T \i ] ﬁzﬁ;‘?i;f‘gio
, MOUNT CONDITION. (NAIL FIN SHALL NOT ACT g ‘_/ » ., Expitation Da
3(TY“Q,A;<‘ —‘ ~— q sy pe L) 4 AS A SUBSTITUTE )FOR THE FRAME SHEAR 6(TYMP/§;(. - SE ¢ q —] L 3TY"’;A;<-B:Q{ ;
EXTERIOR ELEVATION; DOUBLE RECTANGULAR DOQRS ~ SCREWS SPECIFIED PUATE 2 Bade Product Control
GENERAL NOTES: SOAE 34 = 10" EXTERIOR ELEVATION; SINGLE RECTANGULAR DO&Hior

SCALE: 3/4” = 1'-0"

FRAME ANCHOR REQUIREMENTS TABLE

ALLOWABLE DESIGN LOAD

SEE SHEET 2

OPENING TYPE JAMB TO OPENING MINIMUM MINIMUM
(SUBSTRATE) FASTENER TYPE EMBEDMENT | EDGE DIST.
2X_ WOOD FRAME OR BUCK " "
(MIN. GR. 3 & G6=0.55) NO. 10 SMS SCREW 11/4 3/4
(2) C—90 CMU OR MIN. 2500 PSI CONCRETE[{1) 3/16" CONCR. SCREW 11/4" 2"

HINGE REQUIREMENTS

KWIK—CON Il OR POWERS RAWL TAPPER (HARDENED STEEL OR S.S.).

(2) CMU IS NOT APPLICABLE AT THE HEAD & SILL (ONLY APPLICABLE AT SIDES)

(1) CONCRETE SCREWS SHALL BE ELCO ULTRACONS, ITW RAMSET/RED HEAD TAPCONS, HILTI

DOOR HEIGHT

# HINGES REQ'D

ALL SIZES

4

*SHEAR SCREW ANCHOR NOTE: FRAME MAY BE EITHER DIRECT MOUNTED TO THE OPENING, MOUNTED ONTO A
CONTINUOUS SPACER, OR ANCHORED TO A MIN. 2x4 NO. 3 SOUTHERN PINE WOOD BUCK. WHEN ANCHORED TO
A 2x4 BUCK, NO. 10 SCREWS SHALL BE USED. WHEN DIRECT MOUNTED OR MOUNTED WITH SPACER, 3/16"
CONCRETE SCREW SHALL BE USED. SEE "FRAME ANCHOR REQUIREMENTS TABLE" FOR EMBED REQUIREMENTS.

PROPER MATERIAL SHMALL BE USED BETWEEN ALL DISIMILAR MATERIALS (BLOCK/CONCRETE & ALUMINUM).

DRAWN BY: CHECKED BY:
K.P.S. WW.S.
PLOT: DATE:
1=16 02/20/03
~ o |
wull IRIR
= © |~
<N olo
=1 NS
o Qolo
“ "k
o Ela
¥ z|=
a
1)
w
HME
—FZ|18 =
arsicin
[+ o (4]
A HEHE
@x|w
ad HEHHE
S EIHRE
aﬁggé
ol "
d FIEIHE
gle|5|Y
ol - [
ZzZy < ojo
n
o
3
<C
33
&
0 of
To)
=z S+ 0
Ou_ltng
a =
Z 5= |
§ 00
m"d’
a ug™
4 TS |
w =Own
= <o —
I wWo~
0 =W
o =
ol U
g T
x (@)
Sk
2
S M
=
5=
z
<<
=

LEGACY ALUMINUM CLAD OUTSWING FRENCH DOORS

CONSULTANTS

& CONSULTING, P.A.
8895 N. MILITARY TRAIL; SUITE C—204

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-775-4903

CERTIFICATION

2009

. SCHAEFER, P.E.
NO. 44135

o sty s—
DRAWING NO.

1211 | C

1

SHEET NO.

o 8




83 1/4" MAX. FRAME WIDTH (F.W.) TYPICAL FRAME SCREWS. PLACE 42 3/8" MAX. ] S o
e e ONE AT EACH HEAD JAMB FRAME WIDTH (F.W.) 67 MAX. e
6 MAX. = (B CORNER, 2 AT HEAD MIDSPAN B AN (TYP.)
(mve) " 5 Y & 3 THRU STRIKE PLATE WITH 5 G/ ‘ y
| /,:ZL e {  DOORS 74" X 98" & SMALLER. —. —— g
= g” 4 AT HEAD MIDSPAN & 3 - 8" ,
)g/ /4/ N MAX., THRU STRIKE PLATE WITH y [\ MAX. 11 GA. X 1.1/2 5
- " DOORS LARGER THAN 74" X ROOFING NAILS OR
/ /@7 | /< 98” (50 SQ. FT.) SEE "FRAME 53 g > Blg'Yw7A L>IE ;Cgé\%s .
STRIKE ANCHOR REQUIREMENTS TABLE” " 2
/ PLATE N SHEET 1 FOR OTHER STRIKE | / SEE CORNER— I\ SPACED AS REQUIRED ||
/4 . ON S PATE I CONSTRUCTION g
/ SEE "CORNER FASTENER REQUIREMENTS. | \_ NOTE ON TO SECURE & SEAL [l
| CONSTRUCTION” NOTE { NAILING FIN °
ON THIS SHEET " THIS SHEET z
(7839140 /‘ : 11 GA. X 1 1/2” ROOFING Al AN DR g
TINGE | NAILS OR NO. 7 X 1 5/8” I (B7E3(39X0H NO. 10 S.S. WOOD SCREW [|%
@ DRYWALL SCREWS SPACED o oc Il oOC HINGE OR MIN. 3/16" CONCRETE |I5
}' @@@ ACTIVE PANEL QEAFEI\?AU”LTIEC? FTI?\I SECURE & MAX. ' S e l SCREWU(2 PRETRINE'WGE =
- INACTIVE PANEL LOCK LOCK HARDWARE - . INTO SUPPO
é 2 / HARDWARE \ \i, 3 — : LOCK HARDWARE "\ 2583{; ATS%'Q jEEMST TASME 0
T INACTIVE stie  [ACTIVE T | ST:RIKE N TABLE ON SHEET 1 FOR S g
o = PLATE - S £ } | PLATE FENVEN ‘ OTHER FASTENER g3
NO. 10 S.S. WOOD SCREW OR o= VG _
= F D CTYC2 MIN. 3/16” CONCRETE SCREW (2 T @ I - X <  REQUIREMENTS. o 5
s ¥ v \&/ Y AL/ PER HINGE INTO SUPPORTING T o [l st | £ 933
g 0» @) (42)  oposiTe SUBSTRATE). SEE "FRAME g o | Q wny
~ = e ACTIVE ANCHOR REQUIREMENTS” TABLE - ‘ | ACTIVE | FRAME SCREWS 6" MAX. onl Z %“;‘olo
z - HANDLE HANDLE ON SHEET 1 FOR OTHER X o HANDLE FROM CORNERS & 12" 1< E
= " - / FASTENER REQUIREMENTS. = £ / MAX. 0.C. (ONLY bo) o Lu@'T
. 'NO. 10 SCREWS 6 . 9
: : } J | REQUIRED AT HINGE SIDE Ol @E%w
S MAX. FROM CORNERS / & v 30 1/16" WITH DOORS TALLER ol T 35<
& 12° MAX. 0.C. TYPICAL FRAME SCREWS INTO : 7 THAN 98" AND/OR WIDER Z| 0z
| MAX. D.L.O = =
(ONLY REQUIRED WITH ./ SUBSTRATE. PLACE ONE AT EACH SILL | s THAN 37 3/4") .5 w
DOORS TALLER THAN 36 CORNER, 2 AT SILL MIDSPAN & 3 / Sz 3
98" AND/OR WIDER / THROUGH STRIKE PLATE #ITH DOORS | J | ° 6=
THAN 747) -\ 4 74" X 98" & SMALLER. + AT SILL I r 24
30 1/16” SIRKE MIDSPAN & 3 THRU STR:XE PLATE WITH | His / Q z
MAX. D.L.O. // DOORS LARGER THAN 74’ X 98" (50 | 74 TYPICAL FRAME SCREWS INTO || &
/ SQ. FT.) SEE "FRAME ANCHOR L SUBSTRATE POSITIONED AS rall B 3
REQUIREMENTS TABLE” ON SHEET 1 N SHOWN. SEE "FRAME ANCHOR l o | £ = 3
FOR OTHER FASTENER REQUIREMENTS REQUIREMENTS TABLE" ON S & Ggr
STRIKE (APPLICABLE WITH BUMPER THRESHOLD. — 4l SHEET 1 FOR OTHER Ol Weonl
_ PLATE _ FOR ADA THRESHOLD CONDITION, SEE i ) FASTENER REQUIREMENTS. s| &% 5.5
= — N7 N o "ADA SILL DETAIL” ON SHEET 7). i = | 2 Eg:mE
—_ < Z
! ‘ ! | a3 ! 6" MAX. | I q b = | o B8y
3 MAX. q . q NAILING FIN IS OPTIONAL & MAY (")~ @ 3" MAX. 2 E3%39
(TYP.) LAPEUPTE BE SCORED AND REMOVED WHEN S — (TYP.) < <2 53¢
EXIEROR ELEVATON e T Do S paemo g pvaon it
. S z 233
DOUBLE EYEBROW TOP OQUTSWING DOOR ACT AS A SUBSTITUTE FOR THE SINGLE EYEBROW TOP OUTSWING DOOR 2 3% gy
SCALE: 3/4" = 1'=0" FRAME SHEAR SCREWS SPECIFIED) SCALE: 3/4" = 1'-0" E |5 &
ALLOWABLE DESIGN LOAD (PSF) .
SINGLE DOORS WITH oL
MAX. FH. = 98" & +60/-75 z A= i
FRAME CORNER CONTRUCTION MAX. FW. = 37 3/4" = AN ks
AT EACH RECTANGULAR DOOR HEAD CORNER AND ALL SIDELITE CORNERS, THE WOOD FRAME MEMBERS ARE DADO CUT, GLUED, PLACED TOGETHER AND MECHANICALLY g 5
FASTENED WITH (3) #8 X 2 1/2" LONG DRYWALL SCREWS. SINGLE DOORS WIT”H F.H. c a2
AT EACH DOOR SILL CORNER, THE WOOD FRAME MEMBERS ARE SQUARE CUT, SEALED WITH A GASKET & SILCONE ON THE INTERIOR AND SECURED WITH (3) 2 1/2" CREATER THAN 98" OR F.W.| +60/-60 REVISED r WO\ =
DRYWALL SCREWS. A 3/4” HIGH OAK THRESHOLD IS SEALED TO THE SILL WITH SILICONE BACK BEDDING AND SECURED WITH SCREWS TO THE WOOD SUB—SILL. GREATER THAN 37 3/4 Pf&ODUf; :}V:;’\i{gsgc Fioride o .
AT EACH DOOR SILL CORNER WITH ADA SILL, THE WOOD FRAME MEMBERS ARE SQUARE CUT AND MECHANICALLY FASTENED WITH (2) #9 X 2" LONG FLATHEAD SCREWS. DOUBLE DOORS WITH gu?ﬁi?%;; fC‘;ée ) 2 g N
THE ALUMINUM FRAME CLADDING MEMBERS ARE MITER CUT AND MECHANICALLY FASTENED TOGETHER USING (1) 1 1/4" SCREW OR (1) #6 X 1" LONG SCREW WITH #5 MAX. F.H. = 98" & +60/—75 Accq&i?@c&NG D 7'0 =
HEAD AT EACH CORNER. MAX. F.W. = 74" Expization Do 13 AWNG NO. JREV
" L DRAWING NO. ]REV.
A'IA E?CHC((Z)(?RNERBTHE “r‘llO(;Il’) lSJ,LgLI%rgMBER ENDS ARE SQUARE CUT, SEALED WITH A SINGLE BEAD OF SILICONE, WOOD GLUED TO THE WOOD JOINT SURFACES AND DOUBLE DOORS WI.TH F.H. BI); T Dade Produc’COntI:& 1211 C
SECURED WITH 3/4" DIA. X 3" LONG DOWELS, (2) PER TOP CORNER & (4) PER BOTTOM CORNER. GREATER THAN 98" OR F.W.| +60/-60 gig:‘m ‘ SHEET NO.
THE ALUMINUM MEMBERS ARE SUP FITTED TO THE ADJACENT PANEL MEMBER AT EACH CORNER. GREATER THAN 74 ] 2 OF 8




DRAWN BY: CHECKED BY:

" 377 MAX. KPS. WW.S.
74" MAX. FRAME WIDTH (F.W. - . :
(F.w.) FRAME WIDTH (F.W.) 6 Wi P _e [ ooy20/08
e ———— @ o :
f “’——————————*————*——ﬂ ”{MAxoc 5 :\(TYP') &
z FIXED TRANSOM WINDOW (SEE DRAWING NO. I —~— 4+ — i AJ \
Lz ' H 1210, 12;,1R85AL10,_-702R UDNE[}E\ESS)EPARATE |l| } NO. 10 SMS FRAME SCREWS - ( &
=& : (ONE AT EACH HEAD JAMB | _}_/
So ' ]H 2 X 5 X 18" CORNER, 2 AT HEAD MIDSPAN ] // —H A X 1 1/2" z
& 3 THRU STRIKE PLATE INTO "COR ' 5
o3 6063-T5 ALUMINUM MULLION TUBE) ’ ///SEE "CORNER | ROOFING NAILS OR NO. g
== | | TUBE MULLION (REF.) | TR 7 X 1 5/8 DRYWALL g
ER S SEE MULLION END CLIP _L_‘_ e e T A 2
Ly (P ' I DETAIL ON THIS SHEET H'l & SEAL NAILING FIN 2
e A B v S 12" 0.C. | ‘ &
L 7 . MAX 3
! _I_ e S — - J% Nt -
[ i — T[] AR B RN —f—Hl H
. ] < 37 — %)
N L \ T o 2
/ p 3 R ‘ '\ 8
—_— . ¥ . . <
o a N
F TION
y; q @/ | SEE "WULLION—"_ TYPICAL FRAME SCREWS (2 EACH £ M VIS RSHL 835
o 74 STRIKE \END CLIP DETAIL" SIDE OF MULLION) SEE "FRAME S : ) REMOVED WHEN REQUIRED o o
Z PLATE ON THIS SHEET. ANCHOR REQUIREMENTS TABLE" T M\ Qo3¥g
& | FOR A DIRECT MOUNT -
o / ON SHEET 1 FOR OTHER g © TS > CONDITION, (NAL FIN S o
* /~FRAME ANCHORS /% FASTENER REQUIREMENTS) = 5 . oprosE (| - SHALL NOT ACT AS A o| 252
= SEE ELEVATION £ - S EE
= (N HEET 1 AN 11 GA. X 1 1/2” ROOFING . o -L SUBSTITUTE FOR THE o AN
& ON SHEET 1) g x R FRAME SHEAR SCREWS S| gk4x
Y J \ NAILS OR NO. 7 X 1 5/8 < ‘ l SECFIED ol @ £56
S DRYWALL SCREWS SPACED ; SPECIFIED) ol T 35:
< AS REQUIRED TO SECURE & 20 z| v zu
<C > : (&2} » =
= £ y SEAL NAILING FIN : 29 11/16 )H_ & |5 u
L MAX. D.L.0. 58T
~ . oI5
Nz % INACTIVE ACTIVE NO. 10 S.S. WOOD SCREW OR . | < Eg
58z EﬂleiDEBR/1H6|;JGCEO’|*JCTF§>ETSEU§S§FE<¥/|NG TYPICAL FRAME SCREWS 1
2 : z
AR (D CTYTC2 SUBSTRATE). SEE "FRAME - % INTO SUBSTRATE & n
z &5\6 ~ &/ v \EAE/ ANCHOR REQUIREMENTS” TABLE | POSITIONED AS SHOWN. e . 3
LT /T2 OPPOSITE ON SHEET 1 FOR OTHER ~ SEE "FRAME ANCHOR % & $§ﬁ'
x o \8/ FASTENER REQUIREMENTS. . REQUIREMENTS TABLE” o weonh
: 7 N\ | _L ON SHEET 1 FOR OTHER Za't 8
iy L _ b S50
< N T / | | FASTENER REQUIREMENTS. > 2500
S AN = = S| <25,
25 7/16" / TYPICAL FRAME SCREWS INTO ; | 5| B5tes
D 6" MAX q | ©:39
MAX. D.L.0. 0/ SUBSTRATE (ONE AT EACH SILL - 3 MAX 2| Gz &
\ CORNER, 3 AT SILL MIDSPAN & 3 (TYP.) EXTERIOR ELEVATION *‘ y  |,58 538
THROUGH STRIKE PLATE) SEE E 250 22
\ ,, SIDELITE 230 22
FRAME ANCHOR REQUIREMENTS 2L o |5 _ 8235
% TABLE” ON SHEET 1 FOR OTHER SCALE: 3/4" = 1'-0 z |3 g%y
4 - a
// FASTENER REQUIREMENTS , 2 X 5" X 1/8" 2 EE £
(APPLICABLE WITH BUMPER MULUQN END CLIP go GA. (0.034")
3 . FOR ADA THRESHOLD X 1.5” X MIN. 5.5” LONG (MIN. TUBE MULLION (MIN. u
THRESHOLD. FOR A ™5 L UMIN N
\ i/ CONDITION, SEE "ADA SILL DETAIL” 33 KSI GALVANIZED STEEL) 6065- ) @ (o
STRIKE ON SHEET 7). 47 X 3/4" | " 11 GA X 1/2” g S |uo
' : B SMS ROOFING NAIL (2 2 <%
| i T i \, !i/ i T ‘| '\ (4 PER cup).<§4|° | PER CLP) e g
\ NAILING FIN IS OPTIONAL & | ¢ LowN. ox4 P fe '
fsA et Al X MAY BE SCORED AND - , — ProDUCT REVISED s Q]
(TYP.)  REMOVED WHEN REQUIRED T WOOD BUCK as complying with the Fiorida g
- - CO“")J}HQ»NO
DOUBLE RECTANGULAR OUTSWING DOOR CONDITION. (NAIL FIN SHALL MULLION END CLIP DETAIL Expitation Date . ;ZZZQCB’ EN—
WITH TRANSOM o AGL o SUBSTIUTE (APPLICABLE TO ELEVATION ON By ; 1211 | C
SCALE: 3/4” = 1’-0" THIS SHEET ONLY) Miami Dade Product Camrol SHEET NO.
(SEE_DOUBLE RECTANGULAR OUTSWING DOOR ELEVATION FOR DETAIL NOT SHOWN) SCREWS SPEC'F_'ED) SCALE: 1/4 FULL Division 3 o 8




149 1/2" MAX. FRAME WIDTH (F.W.) N s | wws
. RiN . K.P.S. W.W.S.
NOTE: TRAMSOMT  2» x 2" x 4" muLLION T
r——— — — —— T T T T T T T T T WINDOWS MAY END CLIP (1/8" LI LY
. 1 FIXED TRANSOM WINDOW (SEE DRAWING NO. FIXED TRANSOM WINDOW (SEE DRAWING NO. | GA. GALV. STEEL) g
< 2 [ 1210, 1071 OR 1072 UNDER SEPARATE } 1 1210, 1071 OR 1072 UNDER SEPARATE ]
Lz l ’H APPROVAL FOR DETAILS.) H} ’” APPROVAL FOR DETAILS.) H I 1 — r,
[E
T o NO. 10 SMS "X 5 » '
58 ’ H NO. 10 SMS NO. 10 SMS FRAME SCREWS AT— H ” 2" X 5" X 1/4” A46 STEEL TUBE MULLION “l S & -
T > ‘ INTO MULLION DOUBLE DOOR. PLACE ONE AT | l 15" 2
wQ WITHIN 6" OF EACH HEAD JAMB CORNER, 2 TYPICAL FRAME SCREWS (POSITIONED AS SHOWN 4 3 _4} ‘$_ z
22 o ‘ H CORNERS & MAx. AT HEAD MIDSPAN (4 AT H |H WITH 3 EACH SIDE OF MULLION) SEE "FRAME HH f 2
x =z L ) " MIDSPAN IF DOOR IS WIDER ANCHOR REQUIREMENTS TABLE” ON SHEET 1 5
(I
o 125 0C. AT THAN 74") & 3 THRU STRIKE H H FOR OTHER FASTENER REQUIREMENTS) | | ¢ & g
X SIDELITES & PLATE INTO MULLION TUBE | ¥ G
= “—_ SINGLE DOORS ’ 3" 4" 4" 3 @ 3" 3 3" 3" 3 3 3" 1/2" ‘—| —-— *
| | — MG : _ . TUBE MULL S
e — = — = = —— =t = e L T e —— —— 3 Z
I B S D Y W P A AN ! T L I 0 (A (REF.)
/ ‘ g T 3 1/4" X 2 3/4" 0
. . ‘ ] . ¥ NO. 14 SMS CONCRETE S
74 ZalZ i IR Al S st
/ 4 Y, \_ STRke /// SEE "MULLION AT OUTEF 33
ADDITIONAL FRAME P/ END CLIP DETALL® | (2 PER CLIP) o2
= SCREWS INTO MULLION 368690 / 74 ON THIS SHEET. : Qa3n
o 3 . D Onw
o (2 ADDITIONAL EACH HINGE N—2 SCREWS PER HINGE | | . a F_o
T SIDE OF MULLION 468 TO PENETRATE g 3 ) r %Ealj
= THROUGH THICK SECTION @@@ | ACTIVE. PAKEL MULLION TUBE WALL | S| % gy
& OF JAMB) INACTIVE PANEL LOCK LOCK HARDWARE (TYP. EACH HINGE) 919 xx
= O B // HARDWARE A\ ! - 70 CONCRETE OR CONCR. FILLED BLOCK | o | 2 5£2
o~ \ / X ) X\ O f ol & 4a~
2 T S Lo X 1172 STRIKE 12" 0.C TUBE MULL =l o 7
S L ROOFING NAILS OR NO. " (REF.) Dl 2
- I PLATE 14 SMS Ejlur 2
e ° 7 X 1 5/8” DRYWALL /' [NACTE ACTVE] MAX. | 5 iR oLIP) NO. 12 SHS 3 EE°
mo5 % SCREWS SPACED AS i X 5 X 1/8 ] N I X1 1/2 9@
b= REQUIRED TO SECURE & /8 f : R P) o i
: SEAL NAILING FIN 6063—T5 ALUMINU:A ) (3 PE CL Sz
w2 TN | /N N\ TUBE MULLION —~ 127 0.C. i
= s> /. ~ N ~ &/ 4 MAX. T f il B 3
c I ® i oPRGSITE gg /2 J 2| & %
: 6/ ACTIVE AN
" Al |l ADDITIONAL SILL ANCHORS INACTIVE HANDLE . MAX o | Weoal
= ||| || THROUGH THick SECTION \ HANDLE T IR SIL | s | §=5.5
S OF SILL & INTO ] AR TO WOQD 2| &g g_-gé
. SUBSTRATE (2 ADDITIONAL L 25 7/16 . INDIVIDUAL UNIT . = e »—éw
—’_ EACH SIDE OF MULLION). =TT MAX éLO 36" yd ELEVATIONS MULLION END CLIP DETAIL S| B3 58
SEE "FRAME ANCHOR N ' (APPLICABLE TO TRANSOM MULLION <| Yo i}
| REQUIREMENTS TABLE” | FRAME ANCHORS | ON THIS SHEET ONLY) 4 058 280
\ E z W z
FOR OTHER FASTENER S=E /| INTO MULLION MULLION END CLIP NOTES: N T EL
| | ReQuRevENTs. // e X/ PLATE | (REF. SECTION "J") 1. SUPPORTING SUBSTRATE MUST BE s 2% 2%¢
| (TVP.) ~—, DESIGNED BY OTHERS TO SUPPORT g |5z z
! ’ THE LOADS FROM THE MULLION ENDS.
' / - : 2. CLIP SCREWS SHALL HAVE A MIN. SUBSTRATE ¥
B PANEL PANEL PANEL - PANEL EDGE DISTANCE OF 2 1/2” FOR CONCRETE o
— CENTERLINE CENTERLINE CENTERLINE CENTERLINE SCREWS & 3/4” FOR WOOD SCREWS. = =9
L= = 7 o 5 N
6" MAX. | |1 [ 1] | [ 1] [ | , m a2
(vP) ~ 37" MAX, A k] J%N%H — L S MK RoDUCT REVISED o '
S (TvP) as compiyinfa with the Florida o
G L ST o ———] MRS Do eorg on =%
Ac%pmceh‘ - z
FOR A DIRECT MOUNT CONDITION. (NAIL EXTERIOR ELEVATION Expix 7 &:)/Z
FIN SHALL NOT ACT AS A SUBSTITUTE FOR OXX0 UNIT WITH OUTSWING DOOR AND TRANSOMS THIS DOOR ALSO APPLIES B ) DRAWING NO. |REY.
THE FRAME SHEAR SCREWS SPECIFIED) e ome SOALE: 3747 = 1-0° | WITHOUT TRANSOMS. N 3530 Prodact Comire Jett 1L
NS FOR DETAIL NOT SHOWN Division -
NOTE: OXXO DOOR SHOWN. ALL OTHER 4—PANEL CONFIGURATIONS OF SINGLE/DOUBLE DOORS & SIDELIGHTS ALSO APPLY. 4 or 8




CHECKED BY:

/

' NAIL FIN SCREW/NAIL PER ELEVATIONS P | s,
NAIL PER ELEVATIONS  CONTINUOUS ‘ : :
CONTINUOUS NAIL FIN' SCREW/NAIL CONTINUOUS NALL FIN. SCREW/ =R SEALANT . SUBSTRATE BY OTHERS PER "FRAME T
e e PER ELEVATIONS SEnb EN SUBSTRATE BY OTHERS PER ~FRAME BEHIND FIN ANCHOR REQUIREMENTS TABLE" .
SUBSTRATE BY OTHERS ANCHOR REQUIREMENTS TABLE BY OTHERS ;
BY OTHERS T BY OTHERS , FRAME SCREW s
PER "FRAME ANCHOR FRAME SCREW PER PER ELEVATION
REQUIREMENTS TABLE” ELEVATIONS (MAY BE - -
S < POSITIONED AT THIN OR ‘
54 " THICK SECTION OF JAMB) i
..... z
1/4” MAX. 1/4" MAX. 1/4” MAX. z
_ SHIM AT — SHIM AT —  SHIM AT &
EACH FACH ANCHOR EACH ANCHOR z
ANCHOR 3
£ O a0 x| SEALANT BY 7 7] ——r g
e ] oters Ao ,
Q
SEALANT ; g
BY 14 . 14 51 ) (
OTHERS %
2932 = CONTINUOUS SEALANT ] BE 8 «
SEALANT BY a N
/| OO NG e @ .
STRIKE SCREW 5
_ : INTO SUBSTRATE 59 (%) 2 a¥y
\ (REF. ELEVATIONS) .—\ /_® Q W
I
Z nx |
FRAME CORNER SEE GLAZING 3 ol 2054
SCREW PER ‘ DETAIL ON T~ o sy
NN ELEVATIONS (MAY AEEERREN SHEET 7 7R 31 8 “IJ% |
/ NN BE POSITIONED AT y NN o EOw
/ N\, \| THIN OR THICK / N\ S| o een~
, A SECTION OF JAMB) ' , N B ~ s =
N . A\Y - I. wn M% L
\ T \ Eé L L ElEE Z
- L ~ 25 ©
AN / = AN - s = s ° ks
~— -~ S ~_ - o & 5%
SEE GLAZING L SEE GLAZING i T z |2
EXTERIOR DETAIL ON ¥ EXTERIOR DETAIL ON " w E -
SHEET 7 = SHEET 7 = 2 Q 8
b - £ I Ll IR
7 ® ; SILL SCREW o A
Z =| 6™ 3"
—SILL_CORNER . J —SILL MIDSPAN A, PER ELEVATION S| guiis
ELEVATIONS, (MAY A / AN Ar s | «£83
~ ELEVATIONS 5| whs g8
BE POSITIONED IN / 48Y49 ~® 2| E38%
WOOD OR VINYL SLICONE " £2 332
/_@ AREA OF SILL) / —SILICONE % m / BACKBEDDING E 290 23z
"] BackeEDDING S = = |27 %%
2 " 2 CE
/@ SILICONE /f@ —1=
20" e zﬁ
: 15 &0
/_@ | = L// zZ T
= w3
= i =] | AW
T T ’ | = iy
s » » x (] ;m
L SHIM OR — SHIM OR complying with tie HQM§GROUT =2\
SUBSTRATE BY GROUT GROUT ‘ - o35 ES
OTHERS PER . ;7 2_% 058 I
"FRAME ANCHOR STRIKE FASTENER SEC SUBSTRATE BY OTHERS { DRAWING 1No. RE(\:/.
REQUREMENTS  SECTION - (REF. ELEVATIONS) /B PER "FRAME ANCHOR SECTON 5\ ® = 121
TABLE” AN ‘ SCALE: 1/2 FULL \&/ REQUIREMENTS TABLE® _ ) Mism Dade Product Control™ SHEET NG,
SCALE: 1/2 FULL \5/ (FOR DETAIL NOT SHOWN, SEE SECTION "A") : SCALE: 1/2 FULL Division 5 oF 8




DRAWN BY: CHECKED BY:
K.P.S. W.W.S.
1/4" MAX. @ FLoT: BATE:
SHIM AT ! f—— FRAME WIDTH (F.W.) @ 1=2 02/20/03
EACH ANCHOR o — P "
SUBSTRATE BY &
OTHERS PER
"FRAME ANCHOR » SEE GLAZING 7o x
REQUREMENTS ) ! DETAIL ON e
TABLE RN SHEET 7 SILICONE SEALANT : (489 ,
NAIL FIN 4849 k H A |
SCREW/NAIL PER FANEE! e | f@ &
ELEVATIONS ) — e N (R B =5 _ :
HINGE SCREW 4 AN TC = D 44D AN 5
INTO SUBSTRATE | _® / \ 3 / g
(2 PER HINGE S €0) z S N 469 7 \ -
PER ELEVATION) Y . ( ~ - 'Q-l =|. = & ( 5
SEALANT BEHIND —_"° / @ (M /
FIN BY OTHERS R AL . % IIC & N "
- = = 7 —— y S S~ /\ 14
I\ \@ -] [t _© ] \_@ SEE GLAZING S <
2 < DETAIL ON 2
Y 3 SILICONE SEALANT SHEET 7 qag
1LY 573840 @3 2 o¥n
SEALANT BY 14 g ©5 3
OTHERS SECTION /T C o| 235
’ SCALE-1/2 FUL \&J — S Cl % ey
(ADJUSTABLE HINGE CONFIGURATION) SECTION /3 @2 2] 2 T |
5 . gy
SCALE: 1/2 FULL \ 6/ 2l & g@f\
1/4" MAX, ) | 5|5 w
SHIM AT — FRAME WIDTH (F.W. 1/4" MAX. , ’ 5 gY¥ z
SUBSTRATE BY ] FW.) =1
OTHERS PER EACH ANCHOR SUBSTRATE BY OTHERS—._ . SHH'MNéT oR PRAME WIDTH ( °Es
"ERAME. ANCHOR PER "FRAME ANCHOR_ EACH ANCH TE=F
REQUIREMENTS . SEE GLAZING REQUIREMENTS TABLE o 3 3
TABLE ‘. DETAIL ON AN £l o 3
HINGE SCREW BN SHEET 7 FRAME SCREW PER ELEVATIONS —_.: & al|l £ &
INTO SUBSTRATE (MAY BE POSITIONED AT THIN OR \_" N ~< S| &
(2 PER HINGE - THICK SECTION OF JAMB) BN °f ¥<.5;
PER ELEVATION) N S o =| &% 3e?
TN N (58—t Z| H24g°
NAIL FIN e / ] & = | & 25,
REW A ™ 4 £33
SCREN/NAL PER - ™ -l \ NAL FIN. SCREW/NAL—< | BE 2| g E.]
. ( PER ELEVATIONS s \ |, 58 588
SEALANT BEHIND g / - E [£80 252
FIN BY OTHERS % SEALANT BEHIND N 46A468 / e |59 E
S FIN BY OTHERS ARy = |27 5%
D R s s ~ = S= a
T SEE GLAZING j
SR 53 DETAIL ON S
R Rt = ; @2 SHEET 7 _ 2\ g
“FLsHwri | SEALAT BY - - i = i
BACK OF JAMB OTHERS SEALANT BY 5 =
~ OTHERS E| e g
x| i
SECTION /T2 ~— PRODUCT REVISED =" &
SCALE: 1/2 FULL U6 / as complying with the Florida <C 2
ilding Cod
(BUTT HINGE CONFIGURATION) SECTION /BN e e © - Z =
SCALE: /2 FULL \6/  Expis jon Date € (> e RO
1211 C
M:arm Dade Product Comml SHEET NO.
Division 6 or 8

7



» R : CHECKED BY:
#10 SMS SCREWS PER NO. 10 SMS INTO WOOD OR 3/16" CONCRETE SCREW SEE OPTIONS 1, 'l | 7/16" SOLUTIA SAFLEX G LAMINATED GLASS DR 2 s,
410 SMS @ 6" FROM ELEVATION (SEE SECTIONS INTO CONCRETE (REF. "FRAME ANCHOR REQUIREMENTS 2 & 3 BELOW " (3/16” AN./0.090" SAFLEX NG PVB/3/16" ANJIF %55 005
CORNERS & MAX. 127 0.C. A" ‘& "B” FOR POSITIONS TABLE” ON SHEET 1 FOR OTHER ANCHOR REQUIREMENTS). FOR GLAZING a8 :
IN CROSS SECTION) 2 ANCHORS PER STRIKE WHEN INTO CONCRETE; 4 PER i
STRIKE WHEN INTO WOOD. °
TUBE MULLION FIXED WINDOW 00 EXTERIOR
PER ELEVATIONS PER WINDOW © J\ o , 5
APPROVAL = 7/16” MIN.
o GLASS BITE .
o
= SEE NOTE j\ﬁ N i
& BELOW SHIM AS .
GLAZING DETAIL  REQURED 8
E TS N J_ GLAZING OPTION 1) NOVA GUARD BC4—121 STRUCTURAL SILICONE @ INTERIOR & g
3 ! 5 NOVA GUARD M418 STRUCTURAL SILICONE @ EXTERIOR
;é oS m(T)gchﬁcégg GLAZING OPTION 2) GE SILGLAZE HC STRUCTURAL SILICONE @ INTERIOR & GE ULTRA {ig
s (REF. "FRAME ANCHOR REQUIREMENTS GLAZE STRUCTURAL SILICONE @ EXTERIOR
3 TADLE" GLAZING OPTION 3) DOW CORNING 899 STRUCTURAL SILICONE @ INTERIOR & GE "
v . BLE" ON SHEET 1 FOR OTHER ULTRA GLAZE STRUCTURAL SILICONE @ EXTERIOR x
/.@ FSCC)UOEA?&QS&%E%ENTS?EL A%EZ‘S e GLAZING OPTION 4) GE 1311 SILGLAZE HC STRUCTURAL SILICONE @ INTERIOR & GE 8 «
oL VISP - AND RAPIDSTRENGTH SILGLAZE STRUCTURAL SILICONE @ EXTERIOR oo
OPTIONAL ADA SILL DETAIL SPAN SPACED 6" APART. GLAZING OPTION 5) DOW CORNING 899 STRUCTURAL SILICONE @ INTERIOR & DOW B 7
*x SILL SCREWS SHOWN CONSIDER A DOUBLE DOOR CONDITION. AT SINGLE DOORS, INSTANTGLAZE STRUCTURAL SILICONE @ EXTERIOR v ~%0
ONLY 3 SILL SCREWS ARE REQUIRED (6" FOR SILL ENDS AND AT SILL MIDSPAN). GLAZING OPTION 6) SIKA SIKAFLEX 552 STRUCTURAL SILICONE @ INTERIOR & EXTERIOR Z 339
STRIKE SCREWS ONLY NEED TO PENETRATE THRESHOLD AT SINGLE DOOR. GLAZING OPTION 7) NATIONAL STARCH HT—20 AT INTERIOR & NATIONAL STARCH S T . ©
* USE OF THE ADA THRESHOLD IS ACCEPTABLE ONLY WHEN PERFECT GLAZE H AT EXTERIOR 2l = m;?;
THE DOOR IS INSTALLED IN NONHABITABLE AREAS WHERE THE 8 IS
DOOR ASSEMBLY & AREA ARE DESIGNATED TO ACCEPT WATER | 4.563 NOTE: GLAZING OPTIONS 1, 2 & 3 ONLY ALLOWABLE FOR 3| 3z,
INFILTRATION OR IF INSTALLED BELOW AN OVERHANG WHERE | D.L.0. 25 7/16 X 72 1 A M ats ol &£ 552
THE OVERHANG (OH) RATIO IS EQUAL TO OR MORE THAN 1 - d - f = - z| »=a"
SECTION /7 (OH RATIO = OH LENGTH/OH HEIGHT). 1 250 = . & v
|_
SCALE: 1/2 FULL \_7./ 0.609 | 4373 ] ! " 5 gg g
FOR DETAIL NOT SHOWN, . | :
( SEE OTHER SECTIONS) f ’_; 1.938 —= U T \j 1.393 z L;Z_)f;
14:;\4M:X' FRAME WIDTH (F.W.) %UBXE o @ HEAD & SIDE JAMB l é -
M AT — W, MULLION 410 SMS SCREWS PER 0.719 - L )
EACH ANCHOR (MIN. 6063-T5 ELEVATION (SEE SECTIONS @-——————SILL JAMB ' @ SILL BASE ol 2 5.
FRAME SCREW _ 1 ALUMINUM) "c1”, "C2" & "H” FOR Ll B 2R
PER ELEVATION o\ POSITIONS IN CROSS SECTION) 0.687 o wa OB
2.406 T0 | z5pe"g
MIN. 2X4 ¥ 3 4.500 4.762 ﬁ —— 131 ¢ - 5o
: o 4849 , : z | GQ 248
BUCK/FRAMING & | O ) 2171 2218 - ? 2| 285
BUCK ATTACHMENT < ‘ {— 1.939 "‘ 31 E3:E8
BY OTHERS o /@ /‘@ ! <| 4258
.9 Ll SIR
L e serew ) g @NARROW SI0E RAL OAK THRESHOLD [t 258 28]
R N 1
PER ELEVATIONS \ % ) @—————TOP RAIL LEGACY 2 S x9 88y
< z . F
SEALANT BEHIND =] u
FIN BY OTHERS <. g o 2.122 o
z ik
5 \ EXTERIOR S XD = g3
*? @ ‘ - S} Q0
- | e% wnz
5 (7)BOTTOM RAIL 2o\
SRR EXTERIOR 9@& g{m{% O _t ’70-500 = S
SEALANT BY 2 _ Q 0.500 PRODUCT REVISED =N
‘—{" EC:} as complying with the Florida g
OTHERS 0 Building Code =
1.094 |
0.279 Acceptance No 92 7- o8 BRAWING NO. | REV.
SECTION /M SECTION /00 GLAZING STOP @ ASTRAGAL i Zol3 1211 | C
SCALE: 1/2 FULL w SCALE: 1/2 FULL \Z/ —————S—-— NSV AT By é-«c;;,\ SHEET NO.
(FOR DETAL NOT SHOWN, SEE OTHER SECTIONS) SCREW CAP  WiswiTrass Product Control 7 o 8

Pivigion




DRAWN BY: CHECKED B8Y:
NUFACTU * ERN s ER WOOD SPECIES APPLICABLE FOR USE WITH THIS PRODUCT ARE THOSE WITH A SPECIFIC GRAVITY KPS WHS.
T #I il DESCR;F;E?: MANPACTURER/NOTES OFNE)).?’«% %EED MﬁDLE?JENgFWEAEAg'IECSl%ROFPw;OO,ggg ESI OR GREATER. ALL WOOD IS MINIMUM GRADE 2 MILLED BY WEATHER SHIELD TO SELECT. PG _ R on
1 |HEAD & SIDE JAME * WOOD
2__|SILL JAMB * WO0D ._____.,l . _—i o
3 SILL BASE + WOD 4.762 o 4.762 1750 = 5
4 |TOP RAL + WOOD
5 | NARROW SIDE RAIL + WOOD P
6 |OAK THRESHOLD LEGACY * WOOD
7 | BOTTOM RALL * WOOD 2219 2.219 2250
8 | GLAZING STOP + W0OD ) 3
9 |ASTRAGAL SCREW CAP * WOOD 'cl
10 |HINGE STILE * WOOD ‘f s
11 |LOCK STILE * WOOD ? 1 N W
12 |INTERIOR ASTRAGAL * WOOD z
13_|INACTIVE_MEETING STILE * WOOD HINGE STILE @ LOCK STILE @iNTER!OR ASTRAGAL 2
14 |HEAD & SIDE FRAME CLADDING 5063—T5 OR 6063—T4 ALUMINUM e s o
15 |SILL JAMB_CLADDING 6063—T5 ALUMINUM
16 |TOP RAIL PROFILE 6063—T5 ALUMINUM 4762 S
17 |STILE PROFILE 6063—T5 ALUMINUM :
18 | NARROW STILE PROFILE 6063—T5 ALUMINUM 0.050 1 ‘____ 3.348
19 |BOTTOM RAIL PROFILE 6063—T5 ALUMINUM 1.500 )
20 |HANDICAP SILL 6063—T5 ALUMINUM - 1200 U 2.141 %
71 |EXTERIOR ASTRAGAL COVER 6063—T5 ALUMINUM 2919 1 0.075 Qg
22 |MULLION COVER 6063—T5 ALUMINUM D ' ﬁm | 474 : >
23 |BOTIOM SWEEP VINYL % . D 7
24 | ASTRAGAL BASE 606315 ALUMINUM : v 20
25 | THRESHOLD VINYL ? ~— 2914 ’————1 Z 9+ 0
76 | STATONARY SILL FILLER CLIP VINYL : Q w0
27A | GROMMET PVC T
278 _|SINGLE_PANEL GROMMET PV @ INACTIVE MEETING HEAD & SIDE SILL JAMB 0 § S
28 |HEAD JAMB BACKER PLATE (10.125" X 4.50” X .080") STANLESS STEEL STILE FRAME CLADDING CLADDING o o a
29 |SINGLE DOOR TOP BOLT STRIKE PLATE (1.495” X 1.320" X .119") |304 SS. =2 —_— Q Q TX |
30 |SINGLE DOOR SILL BOLT STRIKE PLATE (2.853" X .800" X .120") [304 S.S. | 2.768 [T ek
31 | DOUBLE DOOR SILL STRIKE PLATE (4.000" X 2.817" X .1257) 304 S.S. 5.000 5.214 ‘ czn Eln: L.JB ~
32 |DOUBLE DOOR HFAD STRIKE PLATE (5.634” X 1.762" X .060") 304 SS. ~0.050 ‘ 0.050 = =3
33 |TONGUE STIKE PLATE (5.000" X 1.000" X .059") 304 S.S. ! e { i 0.654 0.050 J .5y
34 |ADA SINGLE DOOR STRIKE PLATE (3.028" X 1.000" X .060") 304 S.S. I —{ J L > ERET %
55 TPANEL CORNER REINFORCEMENT BAR (10.100" X 1.000” X .120°) |304 SS. = 1 PER PANEL CORNER 0.61 GX f J o654 f =
36 |SINGLE DOOR STILE LOCK STRIKE (9.331" X 1.320" X .118") 304 S.S. =
arOwARE * IOP RAL PROFLE | (17)STILE_PROFILE (18)NARROW._STILE 5=
37 |VERTICAL ADJUSTABLE HINGE (PLATED STEEL OR S.S.) VARIANT HEAVY DUTY OR MILLENIUM STANDARD PROF| LE E =
38 |HORIZONTAL ADJUSTABLE HINGE (PLATED STEEL OR S.S.) VARIANT HEAYY DUTY OR MILLENIUM STANDARD | L o o -
39 |4” X 4" BUTT HINGE (PLATED STEEL OR S.S.) HAGER 1191 10.000 L. o 2
40 |VARIANT HINGE (PLATED STEEL OR S.S.) SIMONS—WERK r 0.100 ! —— 2.500 a 5 Sod
41 |10 MM _SHOOT BOLT GUIDE NYLON 6, 30% GLASS FIBER ‘ ‘ | &, LER
42 |ACTIVE HANDLE SET WITH KEYED CYLINDER AS REQUIRED TO OPERATE DOOR LOCKS 0616 &T * AJ 0.592 [5 !J ol Y<g Emé
43 |INACTIVE HANDLE SET . AS REQUIRED TO OPERATE DOOR LOCKS : : = g“— S52°
44A | 2—POINT CONCEALED INACTIVE PANEL LOCK SET HOPPE { 2 5. 3
44B | 2—POINT CONCEALED INACTIVE PANEL LOCK SET ASHLAND XP45 , BOTTOM RAIL_PROFILE 4“* 0.045 7 . 0.056 J % :2 3‘ %‘L
45A |.38 TOP & BOTTOM EXTENSION ROD CONCEALED HOPPE NORTH AMERICA HLS SERIES @MULUON COVER 5| L5 z8
45B |.38 TOP & BOTIOM EXTENSION ROD CONCEALED ASHLAND XP45 | 6.531 } 2| &3 223
46A | 5—POINT ACTIVE PANEL LOCK ASSY. W/SHOOT BOLTS HOPPE NORTH AMERICA HLS 9000 SERIES 0110 <z S50
468 |5—POINT ACTIVE PANEL LOCK ASSY. W/SHOOT BOLTS ASHLAND XP45 o | 1.750 1.197 4 1058 28T
SEALS & SEALANTS | 2 634 B AEY:
47 |HEAD & SIDE TFT WEATHERSTRIP POLYPROPYLENE &5 af U m 0-500 ‘ ﬁf { = 3 ;"’3 2%y
48 |INTEK ARLOC WEATHERSTRIP VINYL f = 2= % 3
49 |AMESBURY WEATHERSTRIP VINYL HANDICAP SILL EXTERIOR “l I ] l o] 8= &
FASTENERS ==t
50 |F16 X 1 1/2° BRAD NAL 2" FROM ENDS & 13" MAX. O.C. STRAGAL _COVER 20 J ui
51 |3/16” X 1/2' STAPLE 3" FROM ENDS & 20" MAX. O.C. 0.0 o
52 |NO. 8 X 2 1/2” DRYWALL SCREW 3" FROM ENDS & 16" MAX. O.C. =~ 1.961— - £8
53 |NO. 7 X 5/8" FH WOOD SCREW 8 PER HEAD JAMB BACKER PLATE 1 650 0.120 1.753 @ BOTTOM SWEEP S Ly
54 |NO. 7 X 5/8" FH WOOD SCREW 7 PER HEAD STRIKE PLATE : : = 0.090 g < £
55 |NO. 8 X 1 1/4" WOOD SCREW 4 PER CORNER REINFORCEMENT PLATE ? { . 2 et @
56 |NO. 8 X 1 1/2" FH SMS SCREW T PER SINGLE/2 PER DOUBLE STRIKE PLATE E i
57 |[NO. 8 X 3" FH WOOD SCREW 2" FROM ASTRAGAL ENDS & 6" 0.C. 1.442 - 1.396 0.703 PRODUCT REVISED v L:g ~a
58 |NO. 8 X 2" FH DRYWALL SCREW 1 172" & 2 1/2" FROM PANEL ENDS j as complying with the Florida o = i
59 |NO. 8 X 1 1/4" WOOD SCREW 10" FROM ASTRAGAL ENDS & 8" 0.C. L 0.125 ‘ { Builging Code - o 8
60 |NO. 8 X 1 1/4" WOOD SCREW 4 PER ADJUSTABLE HINGE INTO STILE Acceptance No f o &
61 |NO. 12 X 1 1/4" FH WOOD SCREW 4 PER BUTT HINGE INTO STILE ASTRAGAL BASE @ THRESHOLD . STATIONARY SILL Expisgtin Date 203 TGO 1A
62 |NO. 8 X 5/8 FH WOOD SCREW 7 PER ADJUSTABLE HINGE INTO JAMB e B 1211 C
53 |NO. 12 X 1 1/4" FH WOOD SCREW 2 PER BUTT HINGE INTO JAMB FILLER CLIP M);amiD = Product Control
64 |NO. 18 X 1/2° X 1" S.5. STAPLE 2" FROM ENDS & 4 10 6" 0C. Division SSHEELFNOS




